
 

 
ABN 20 113 386 959 
207-209 Colchester Road 
KILSYTH   VIC   3137 
(03) 8720 8100 

   Part Number: RGL-069 
      RRU Mounting Bracket & Install Kit  
              Black Ripple 

 
 
Decon Technologies offers a range of products including the RGL-069 RRU Mounting 
bracket.  
 
For our full range please visit www.deconcorp.com.au or scan our QR code  
 
 
 
 

 

SPECIFICATION  

3 x RRU Mounting Brackets 

1 x 19” Horizontal Mounting Frame 

Suit Decon 19” Post Rack 

Powder Coated Satin Black Ripple 

Telstra approved – PSA 40012253 

 
 
 

INSTALL KIT 

1 x Cable Flex 6mm2 Earth 4000mm Long 

1 x Heat Shrink 2:1 10/5mm2 Blue 400mm Long 

1 x Heat Shrink 2:1 10/5mm2 Red 400mm Long 

1 x Heat Shrink 2:1 13/6.5mm2 Clear 740mm Long 

12 x Set Screw M8 x 16mm Hex Head Stainless Steel 

12 x Washer M8 Flat Stainless Steel 

12 x Washer M8 Spring Stainless Steel 

6 x Set Screw M6 x 16mm Hex Head Stainless Steel 

6 x Nut M6 Hex Stainless Steel 

6 x Washer M6 Flat Stainless Steel 

6 x Washer M6 Spring Stainless Steel 

4 x Cable Lug 6mm2 Cable 6mm Stud Bell Mouth 

6 x Boot Lace Pin 2.5mm2 Grey 

1 x Cable 2 Core 2.5mm2 4000mm Long 

Packaged and boxed 

https://www.deconcorp.com.au/_files/ugd/ecc167_02564db1359d4cadb031a7e32dd556c3.pdf

